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Question Number : 1 Question Id : 2012981585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which version of Internet Explorer does Windows 8.1 have?

Options:
, « Internet Explorer 11

> u Internet Explorer 10
- » Internet Explorer 7

4 » Internet Explorer 6

Question Number : 1 Question Id : 2012981585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
WINDOWS 8.1 & Internet Explorer &T le & TEHI0T 87

Options:
,  Internet Explorer 11

- » Internet Explorer 10
- % Internet Explorer 7

4 » Internet Explorer 6

Question Number : 2 Question Id : 2012981586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Internet Explorer 11 supports up to tabs per window.

Options:
; % 110
> % 120

3 « 100

4 % 130



Question Number : 2 Question Id : 2012981586 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Internet Explorer 11 9fa window ¢F 9% & FHIS 4T 2
Options:

L% 110
, = 120
. » 100

4 # 130

Question Number : 3 Question Id : 2012981587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

How many versions of USB were available till 20007
Options:

1 ® 2

Question Number : 3 Question Id : 2012981587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
2000 T% Juaer (USB) & fhael TERI0T 396eY o7

Options:

1_%-32

Question Number : 4 Question Id : 2012981588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
USB 3.0 was introduced in which year?

Options:



| % 2004
> % 2000

3 « 2008
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Question Number : 4 Question Id : 2012981588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

guaeT (USB) 3.0 & fFw a¥ o famam amam or?

Options:

. % 2004
. % 2000
- «» 2008

. % 2005

Question Number : 5 Question Id : 2012981589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which is the right order of action to create pivot table?

Options:
, % Menu > PivotTable > Insert > Create PivotTable > Range

» % Menu > PivotTable > Insert > Range > Create PivotTable

5  Menu = Insert > PivotTable > Create PivotTable > Range

4 % Menu > PivotTable > Create PivotTable > Insert > Range

Question Number : 5 Question Id : 2012981589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

PivotTable a1 & fIT HNEE & T &7 FiT T7 872

Options:
, % Menu > PivotTable > Insert > Create PivotTable > Range

. %» Menu > PivotTable > Insert > Range > Create PivotTable



5 w Menu > Insert > PivotTable > Create PivotTable > Range

4 %« Menu > PivotTable > Create PivotTable > Insert > Range

Question Number : 6 Question Id : 2012981590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
While naming a version, which option you will NOT choose?
Options:

| % v2.1

5 % VI

= % V2

e

Question Number : 6 Question Id : 2012981590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

TTHI0T FT ATHFOT Fla THT, JT =07 § ¥ 7 BeeT &7 999 767 7

Options:

e M 12

Question Number : 7 Question Id : 2012981591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Which extension is used for window cursor file?
Options:

1. %" Ul

5 % .CUrsor

3 #% .CuLr



4 % .CUIS

Question Number : 7 Question Id : 2012981591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
o wemdys #1 3uaeT FE w9t vEe & v G s #0

Options:
1 & .CUr

> ® .cursor
z ® .Curr

4 ® .CUI'S

Question Number : 8 Question Id : 2012981592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
DES is an implementation of a Cipher.

Options:
1 % Newton

> % Richard
5 « Feistel

42,3(3&1@

Question Number : 8 Question Id : 2012981592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
g5ty (DES) T oo =1 FE==EaT gl

Options:

y i =gc (Newton)

, » R=s (Richard)
. » B (Feistel)

4 » 3T (Garry)

Question Number : 9 Question Id : 2012981593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
The major advantage of FM over AM is:

Options:
, w higher carrier frequency.

- % smaller bandwidth.

- » small frequency deviation.

4  Teception is less noisy.

Question Number : 9 Question Id : 2012981593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
AM & FeraT H FM & 9HE ol &7 87

Options:

|« =9 TESF A
, « O dsfasy
. » O Hgfea e

, » HEEEUT (R@ves) & oY arer g

Question Number : 10 Question Id : 2012981594 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
To which of the following security device an Iris scanner is related?

Options:
1 % Smart card

- % Firewall
= % Scanner

4 +« Biometrics

Question Number : 10 Question Id : 2012981594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T T 5w FeaT 9T ¥ wefg 72

Options:



1 ® F«Hﬁ'ﬂé‘

4 & ol [””i;ﬂ H

Question Number : 11 Question Id : 2012981595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
computers used magnetic drums for storing data.

Options:

, w Fifth generation

-~ % Third generation

5 % Second generation

4  First generation

Question Number : 11 Question Id : 2012981595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
FUe 3@ TIRd W F v WAes 37 F7 sTa9d = &

Options:

| o e

-G QUL
3, % {‘qﬁﬁ
4.Jqﬁ%

Question Number : 12 Question Id : 2012981596 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following is NOT a hardware-related problem in a printer?
Options:

1 % Lower toner



o o Corrupt printer driver

- % DBroken paper tray

4, % Paper jams

Question Number : 12 Question Id : 2012981596 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
SAH ¥ i e Fr ggdmy o ge9fag gAsar 76 272

Options:

o » T T FEHR

- 2T EHT TS T ¢

4 % TS FT HTHaAT

Question Number : 13 Question Id : 2012981597 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following Operating systems is freely available in the market and can be modified by the user bv making
necessary changes in its source code?

Options:
1 ¢ Linux

> % Windows
= % Macintosh

4 » RedHat Enterprise Linux

Question Number : 13 Question Id : 2012981597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
AT # ¥ #iF @ AT By TR § =07 §9 ¥ 390 ¢ AR 39 JiF FF J H/9TE
afade e ITAThAT ST T f&ar ST F@ehar 27

Options:

. » &aFE (Linux)




, » [desist (Windows)
. « Hiweerer (Macintosh)

. I3 8¢ veurss foerd (Red Hat Enterprise Linux)

Question Number : 14 Question Id : 2012981598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

will restore deleted files and folders as well as allow to delete them permanently from a computer.
Options:
1 % Documents

> % Control Panel

- » Help and Support

4  Recycle Bin

Question Number : 14 Question Id : 2012981598 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
FIT T EEA AT WES FOYAEE F0T AT Ay § Fogm ¥ 3 oyl w9 F fE A
FAT &9
Options:
1 # Documents

- # Control Panel

- % Help and Support

4 « Recycle Bin

Question Number : 15 Question Id : 2012981599 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In a computer, most of the processing takes place in the

Options:
1 ® memory

> % RAM



= % motherboard

4 & CPU

Question Number : 15 Question Id : 2012981599 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
fardlr Feget &, e SafdeT H grar gl
Options:

. % memory

> # RAM
= # motherboard

4 ¢ CPU

Question Number : 16 Question Id : 2012981600 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The is always updated when you log in and log off vour user account.

Options:
1 « Access Token

> % Identifier

5 » Visual Display

4 % Identifier and Visual

Question Number : 16 Question Id : 2012981600 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T AT 9T S FIg ¢ M FIAT 3TAEERAr AT 9 Fd g ar R HTST BT B

Options:
| v UFHH ThA

5 % gg=Far (identifier)

5 # TXUICHS ye2l (visual display)



4 % UgITASAT AT §2T (identifier and visual)

Question Number : 17 Question Id : 2012981601 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is a ROM?

Options:
, w» Volatile Memory

» % Cache Memory

-  Non-volatile Memory

4 % Virtual Memory

Question Number : 17 Question Id : 2012981601 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Fraofa & @ =9 & ROM &7
Options:

|« AER T (Volatile Memory)
, « T=I¥ HAN (Cache Memory)
. » TF-areesa AANT (Non-volatile Memory)

7= T3S HA (Virtual Memory)

Question Number : 18 Question Id : 2012981602 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

In order to perform basic operations in MS Excel 2016, such as addition, subtraction, multiplication, or division. vou
need to use the pperators,

Options:
1 « arithmetic
- % comparison

= % text concatenation

4 % reference



Question Number : 18 Question Id : 2012981602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
MS EXCEL 2016 # =13, 9er, T[0T I 97 =7 ey {90 &3 & fore, HToer AT
FT ITUTET FIAT EET 2

Options:

| v HEIO

o WD

- % 9IS HiEHST
4_33@33‘%

Question Number : 19 Question Id : 2012981603 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following shows a brief description. and. optionally. keyboard shortcuts of commands or dialog box
launchers?

Options:
1 % Context Menu

» » KeyTip

5 o Screen Tip

4 % Live Preview

Question Number : 19 Question Id : 2012981603 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
e § ¥ 9 U5 Oy = it 35fgs 57 § $EE oitse S0 o7 S 99y wieet
FT Emmar §7

Options:
Flecate Hel (Context Menu)

1. ®
, % @1 f&F (Key Tip)
. » B f&T (Screen Tip)

L % omed 9r<g (Live Preview)



Question Number : 20 Question Id : 2012981604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What is the use of a LAN network?
Options:

. « To share peripherals

> % To backup your data

- % losave all your data

4 % To access the web

Question Number : 20 Question Id : 2012981604 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
TATET TRET A (LAN) &1 3937 327 272

Options:

| HrEERT i
5 % I 22T FT FHHT AT
o w 3T Gefr S F HEgStaT

Question Number : 21 Question Id : 2012981605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Multiple-choice examination answer sheets can be evaluated automatically by

Options:
1 v OMR
> % OCR

s % MICR

4 % scanner

Question Number : 21 Question Id : 2012981605 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



wg faeredl TUET 3eck THH FH Hedlha Tl ¥ F ZaRT Far ST geRar g

Options:

| » Hiegewer frgagems Jomer (OMR)

, » 3Ceher Hhamw Jg=r= Joumer (OCR)

.y TFTRE T WHATER Tgee JoTel (MICR)

4_&%

Question Number : 22 Question Id : 2012981606 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following has a function of holding of all data and instructions to be processed?

Options:
, & CPU

-~ % Output Unit
5 Primary Memory

4 % Secondary Memory

Question Number : 22 Question Id : 2012981606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TS o & 36y F ow |l 3o 3k &t & unor Fef@e § ¥ aer w3 2

Options:

| x FET HEWA $HE (CPU)

L u ¥ AT (Output Unit)

o » FEAT AAY (Primary Memory)

, » GacrT® T (Secondary Memory)

Question Number : 23 Question Id : 2012981607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Magnetic tape is described by which type of accessing mechanism?



Options:
1 % Direct

o  Sequential
= ® DVD

4 = Magneto optical

Question Number : 23 Question Id : 2012981607 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Fafer 2o fFm E F 3w I7 @y afvia 22

Options:
, = FcdaT (Direct)

. « ®PHSS (Sequential)
3 % grdrgr (DVD)

Ll HI=ar 3fifesar (Magneto optical)

Question Number : 24 Question Id : 2012981608 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Gopher displays a set of resources on the internet in the form of:

Options:
1 « Menus

- » Options
= % Icons

4 % Buttons

Question Number : 24 Question Id : 2012981608 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
IHT Selade I HHEUAT 1 Tk 8 50 & F 9@ F:Iar 872

Options:

A (Menus)

1. v



, % [&%ed (Options)
. » Faiek (Icons)

4 » 3¢ (Buttons)

Question Number : 25 Question Id : 2012981609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The domain name .com is a top-level domain (TLD) in the Domain Name System of the Internet is called as

Options:
, w bersonal characteristic

> % art
-  commercial organization

4 # Information

Question Number : 25 Question Id : 2012981609 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
com TRAT AW, LT ¥ BAF 29 BEw W v av-aEw 2R (TLD) g R o Fea ¥

Options:

| % THAS HiFIECH
> % HIE

5 v AR IS
4 % ST

Question Number : 26 Question Id : 2012981610 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

ARPANET stands for:

Options:

, w Advance Research Projects Agent Network.

» % Advance Research Projects Agency Nodes.



- » Actual Research Projects Agency Network.

4  Advanced Research Projects Agency Network.

Question Number : 26 Question Id : 2012981610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

ARPANET T q0T &9 T 7

Options:

| % vzary TEe 999 TSie Acas (Advance Research Projects Agent Network)

, « USaTH TWT Yoo TS A5 (Advance Research Projects Agency Nodes)

T 37eT T 9T TAAT AT+ (Actual Research Projects Agency Network)

3 ®

4 &
vzargs O 99T USET Acasd (Advanced Research Projects Agency Network)

Question Number : 27 Question Id : 2012981611 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
The full form of HTML is:
Options:

, w High Transfer Machine Language

- % High Transmission Markup Language

-  Hypertext Markup Language

, » Hypermedia Markup Language

Question Number : 27 Question Id : 2012981611 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TEdrTATe (HTML) & Ber Brel gl
Options:

, = High Transfer Machine Language (@S TrawT Jfe ofeae)

, » High Transmission Markup Language (815 TR AT oea=)



-  Hypertext Markup Language (FTEEEE AT Feae)

., » Hypermedia Markup Language (F=HIEam ATRHT ofea)

Question Number : 28 Question Id : 2012981612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following terms is just the collection of very large number of networks that can be joined together?

Options:

, w Vvirtual private network

R LAN
= % Intranet

4 +« Internet

Question Number : 28 Question Id : 2012981612 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
aﬂﬁﬂaﬁﬂmaﬁag?raﬁeem H Fca+ FT TIE BT &, Seg 95 H ST T Tehal &7

Options:

T WFAT Acas

Question Number : 29 Question Id : 2012981613 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The printers that produce the output by pressing a print element and an inked ribbon against the face of a continuous
paper form s called:

Options:

i« Impact printer

> % Scanning printer

- » Non-impact printer



4 = Plotter printer

Question Number : 29 Question Id : 2012981613 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Wer 7 Me a0 3 v T NEa gae H15EE 300 F9d & U Hoa 99 B & B 33 s
e &7

Options:

1. ¢ sFtae feT (Impact printer)

5 % TfaeT frex (Scanning printer)

3 ® - SFYeFe BeX (Non-impact printer)

, % ST TET (Plotter printer)

Question Number : 30 Question Id : 2012981614 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
The basic unit of a worksheet into which you enter data in Excel is called as:

Options:
1 # Tab

~ % Box

&,

3 o Cell

Range

Question Number : 30 Question Id : 2012981614 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Excel & Fhefic & 3muReg $1s 5@ AT 227 GiaSe &7 §, 38 F4T Fad 872

Options:

1_%%3’

> % SlH

3 v W



4&@

Question Number : 31 Question Id : 2012981615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
How can you easily clear the CMOS, including clearing the password?

Options:
, » Unplug the PC

-  unplug the PC and remove the CMOS battery

= % Issue a Clear CMOS command from the command line

4 # This cannot be done

Question Number : 31 Question Id : 2012981615 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

qrOas & FeN 3 g 71T CMOS &7 HTaET ¥ 5§ 1% X T5d 87

Options:

. % PC =" 3o FY
5 « PC & 3aeerT &y AR CMOS &1 st Faer

» HAE TNST ¥ T CMOS Heer iy &

=

, w UET FE RIS wear

Question Number : 32 Question Id : 2012981616 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
To keep specific rows and columns from scrolling off the screen, you must first position the cell pointer:

Options:
; w tothe right of the column that you want to remain on the screen.
> % below the row that you want to remain on the screen.

- % onthe row that you want to remain on the screen.

4 « both below and right of the row and column that you want to remain on the screen.



Question Number : 32 Question Id : 2012981616 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
fafirez offawt it T = =89 ¥ = AT #a & BT o uge W OEeT 7 FaT 97 9T

Options:

. % T8 HT BRA N & @AT T8d & 3§ FeA F alfgar AR

, % TfFd & A F@I AT Thd W T @ =8 8§
. w Uiod H @1 AT BT W I el T8 &

, v Taa AT Faw F A AR g 3R G F FeT 3T B W TS A T8 @

Question Number : 33 Question Id : 2012981617 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which command brings you to the first slide in your presentation?

Options:
1 % Home slide button

> » PgUp

3 « Ctrl + Home

4 % Ctrl+H

Question Number : 33 Question Id : 2012981617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
i Ul FATS HIH IES A Tl TS W A g2
Options:

, % BIH T3S &4 (Home slide button)

, % 91 39 (Pg Up)
z « Cirl + Home

L% Ctl + H

Question Number : 34 Question Id : 2012981618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Background colour or effects applied on a document are NOT visible in:
Options:

, = Web layout view

> w Printlayout view
5 » Reading view

4  Print preview

Question Number : 34 Question Id : 2012981618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
fordt grarae X @ e aT geeufE T a1 o e # @ e & s A & 82

Options:
99 N8 =
1 = LS

Oz a3 =1
2_33 .Y
3_33 j E:t'l;

4 N

Question Number : 35 Question Id : 2012981619 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is NOT an option of Home tab in Word 20077

Options:
1 ® Cut

-~ % Format painter

5 % Copy

g Page

Question Number : 35 Question Id : 2012981619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

o 7 & ¥ &9 3 Word 2007 & Home & T 31T gl 87

Options:



1 ® he (Cut]
, » BIHE 9T (Format painter)
FIdr (Copy)

4 v 99 (Page)

Question Number : 36 Question Id : 2012981620 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

To apply outline border to the selected cells in MS-Excel 2013, press keys together.
Options:
1 % Ctrll+ &

> o Ctrl + Shift + &
z % Shifi - &

4 % Alt+Shift+ &

Question Number : 36 Question Id : 2012981620 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

MS-Excel 2013 # Tofem Fifimmat & fre snseemes oy o] & & B Tl T Ay
gari

Options:

L% Clrl + &

, » Ctrl + Shift + &
. = Shift + &

. % Alt + Shift + &

Question Number : 37 Question Id : 2012981621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the maximum size limit of a partition in Fat32?

Options:
, % 16GB



> « 32GB
- % 64GB

4 % 8GB

Question Number : 37 Question Id : 2012981621 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Fat32 & fanata &7 3fSeaq 31 @AT #41 22
Options:

% 16GB
- v 32GB
. » B4GB

, = 8GB

Question Number : 38 Question Id : 2012981622 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In Windows 10, in the account fockout policies, which setting specifies as to how long the vser will be locked out of the
computer?

Options:
1 « Account lockout duration

> % Account lockout threshold

- u Account policy threshold

4 % Account policy duration

Question Number : 38 Question Id : 2012981622 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Windows 10 &, 33z Fie¥Ee Sifgw #, Fi7 & @fen Bftw 7w ¢ F s o e

FraeT wRT o & fEar S
Options:

» HFSE ARHBE 3T (Account lockout duration)

1

o % HFI3E FATFABE WAT (Account lockout threshold)



, « H3C A HAT (Account policy threshold)

4% 3eFT3e Afg A (Account policy duration)

Question Number : 39 Question Id : 2012981623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to displays the Find and Peplace dialog box, with the Replace tab selected in MS Excel?

Options:
1 % CTRL+ALT +F9

> v CTRL+H
- % CTRL+ SHIFT +$

4 % CTRL + SHIFT + &

Question Number : 39 Question Id : 2012981623 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

MS Excel #, TUT Replace 7 ¥ WY Find and Replace Ta1E o1y = wafid & & fBw F=ir
w7

Options:

, % CTRL + ALT + F9
, ¢ CTRL + H
. « CTRL + SHIFT + §

. # CTRL + SHIFT + &

Question Number : 40 Question Id : 2012981624 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which file format is used to save Microsoft Word XML document template?

Options:
1 # .docx
> % .dox

5 % .dotxm

4 « .dotx



Question Number : 40 Question Id : 2012981624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Microsoft Word XML STOES 2F9aE & Bl & @7 #i7 ¥ %F WHe &1 39T T 7= £7
Options:

1 = .docx

> # .dox
= % .dotxm

4 & .dotx

Question Number : 41 Question Id : 2012981625 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which file format is used to save Open Document spreadsheet?

Options:
1 % .od

> « .0ds
3 % od.ss

4 ® ods

Question Number : 41 Question Id : 2012981625 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

HIMe SHgHT TUEIE (Open Docurment spreadshest) 1 T+ & ™0 Fi7 § FIEa THS F 390
o =T 27

Options:

1 ® .od

> « .0ds
- % od.ss

4 % O.ds

Question Number : 42 Question Id : 2012981626 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following tab helps to use a bookmark in the Word document?



Options:
1« Insert

5 % Layout
= % Format

4 ® Design

Question Number : 42 Question Id : 2012981626 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

3 B 7 & B9 &7 1 390 a0 35 gEaeS A §HATe I 39U FY Hed 87

Options:
1 « Insert

- % Layout
= % Format

4 » Design

Question Number : 43 Question Id : 2012981627 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Word count is available in the tab.

Options:
| % Layout

> « Review
5 # Pagelayout

4 % Reference

Question Number : 43 Question Id : 2012981627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

reg, 0T AT H ¥ w9 7 3ueey 3
Options:

, = Layout



- « Review

5 » Page layout

4 % Reference

Question Number : 44 Question Id : 2012981628 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
‘What is the key combination to add double space lines in MS Word?

Options:
1 8 CTRL+0

> B CTRI+3
= o CTRLA2

4 % CIRL+]

Question Number : 44 Question Id : 2012981628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
MS Word # s8¢ TIH &8 Sisal & [T Fail @ais &1 §72

Options:

, ® CTRL+0

, ® CTRL+3
3 ¢ CTRL+2

. # CTRL+1

Question Number : 45 Question Id : 2012981629 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
wraps the text when it reaches to marker.

Options:
, w Hanging Indent

> % Left Indent

-  Right Indent



4 # First line Indent

Question Number : 45 Question Id : 2012981629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
= .
e AR T Tg Sl g dl I8 LS & o9 £l

Options:

, » & 9fed 35¢

Question Number : 46 Question Id : 2012981630 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Moving Picture Experts Group (MPEG-2), was designed for high-quality DVD with a data rate of:

Options:
| « 3106 Mbps

> % 41o5mbps
- % 61o8mbps

4 % 3to7mbps

Question Number : 46 Question Id : 2012981630 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Hff Rt veeee 9 (MPEG-2), #1399 F[oTacar ar & (DVD) & e fsmesr fram wmar o
rgeT ger 21 37|

Options:

, v 3 ¥ 6 Mbps
, » 4 ¥ 5 Mbps

- % 6 ¥ 8 Mbps



4« 5@ 7 Mbps

Question Number : 47 Question Id : 2012981631 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
software identifies, prevents and removes malware from a computer system.

Options:
1« Antivirus

- w Application
5 % System

4 % Proprietary

Question Number : 47 Question Id : 2012981631 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
AreadY e fOFeA & #ATa F 9@ HAT g, Ul g, AR 3 geT & g

Options:

| v TEEERH

5 % TCHIhele

S_Qéﬁm
L w SEEEl

Question Number : 48 Question Id : 2012981632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is a Firewall in computer network?

Options:
, % Anoperating system of computer network.
> # Abrowsing software.

5 A system designed to prevent unauthorized access.

4 % A handy scanner.



Question Number : 48 Question Id : 2012981632 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

& { - wr
YL AT H WA FT 2l 87

Options:

_ : n——
| x FEH Acdss T U HOlleT fareH

5 » U BT WHFeaay

HATFA 4§ﬂﬁ41¢ﬂ#ﬁ‘r@%aﬁ?r£r?réwm

3.8

4 % 3TTET T H HTA Thell

Question Number : 49 Question Id : 2012981633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Streaming stored audio/video, files are compressed and stored on a

Options:
1 & SErver

- w Workgroup

= % Dat drives

4 % USB

Question Number : 49 Question Id : 2012981633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
IR T Ra/ARar w=ar = W FNET (FIFE) IR gEET BT ST
Options:

1____,;;:;721-{
ECTIE]

2_56 L
2 % 2T 3T

, » Aeaae @ T8 (USB)

Question Number : 50 Question Id : 2012981634 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
of pie chart is useful in making small slices in the main pie chart in MS Excel.

Options:
1 « Bar
~ % Area

3 # Surface

4 % Line

Question Number : 50 Question Id : 2012981634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

9T TE FT , MS Excel & &g 95 < # BT 89T a7 § 39900 g gl
Options:

1. ¢ 9

R Qiqal

g_ﬁm

4 % ©Wze

Question Number : 51 Question Id : 2012981635 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which language used to create macros in MS Excel?

Options:
1. % C

> « Visual Basic
= % Java

4 % Ci=

Question Number : 51 Question Id : 2012981635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
MS Excel # #FIF 9 & T FiaF O T ST3ATT Fr F1aT 872

Options:




1 % C
- « Visual Basic
= =% Java

4 % C++

Question Number : 52 Question Id : 2012981636 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The software that allows users to surf the internet is called a/an

Options:

, % Search engine

-~ » Internet Service Provider (ISP)

- % Multimedia application

4 « Browser

Question Number : 52 Question Id : 2012981636 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
WIFEATT ST STARTHATHT FI FTTAC TS HA $T AT T & 39 &gl 7T gl

Options:

4 & 3
READING COMPREEHENSION

Section Id : 201298166

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 1

Number of Questionsto be attempted: 1

Section Marks: 5



Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 201298166
Question Shuffling Allowed : Yes

Question Id : 2012981637 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53to057)
Cuestion Label © Comprehension



Save the Environment -Letter of Mrinalini Sarabhai to her
grandehildren

Mrinaling Sarabhai to her grandehildren Revanta and Anahita:

Deareat Bavanta and Anahita,

You have both had the wonderful feeling of being loved, cherished and
carad for. As vou grow older vou will begin to realize that the world is
made up of different people and emetions, not always the gentleness
you have encountered in your childhood.

Already at school, you are learning that violence, greed. jealousy are
part of life. These are the enemies that vou have to overcome as vou
grow older. So. every day, begin with a praver. The one I like to say is.
“May the Supreme Being protect us™.

Let us work together and play together and above all lar us never bear
hatred towards anyone.

And when vou step out of bed don't forget to remember Mother Earth
who nourishes all of us.

When vou bathe, think of the blessing of water which comes to you
from the mountains, through deep gorges and mighty rivers.

Mo one can live withour water, 20 be caraful with it and do not waste
even a drop. Can you imagine even a day without a drop of water to
drink? And promise yvourself to help clean the waters of our country, 30
that all people can have clean water.

Think of a country withou! rain, Which brings us (o frees which attract
the rain. MNever cut down a tree carelessly, Trees make us think of
flowers and our jov at the beautiful colowrs from the humble jasud to
the elegant rose. What would we do without the colour of flowers and
the green of the trees?

And the thought of trees and flowers bring vs to birds and animals.

As you get ready to go to school, you have a breakfast of bread and
butter. As you eat the bread think of where it came from. Of the farmer

who filled the soil and planted the wheat, of the sunlight that shone
upon the ripening grain. of the task of gathering the sheaves to make i
into the loal you eat.

All our old sfories tell ns of protecting the environment and how wa
need to look after the earth. That is why we call her *Mother.”
5o be a blessing to the world and bring joy to as many as you can.

With my love.
Amma



Sub questions

Question Number : 53 Question Id : 2012981638 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What is the grandmother’s message to the
children?

Options:
1 % Save water

- % Protect animals
= « Protect the environment

4 w Play with everyone

Question Number : 54 Question Id : 2012981639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

How is life different today?

Options:

, « People are more violent and greedy.

> w Everyone is gentle and helpful.

5 % Some people care for their children.

4 % Everyone has someone to protect them.

Question Number : 55 Question Id : 2012981640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What does the rain remind the writer?
Options:

1 % Flowers

-~ % Water
= % Mountains

4 « Trees

Question Number : 56 Question Id : 2012981641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



What should the breakfast remind the children?
Options:
, » How wheat is ripened

» » How sunlight gives warmth

-  How the farmer grows it

4 % How the rain waters the fields

Question Number : 57 Question Id : 2012981642 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

‘What promise should the children make?
Options:

1 # Not to waste food

> % Never to cut down a tree

- » Help the farmer in his work and appreciate it

4 « Help to keep the waters of our country clean

Question Id : 2012981637 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 53 Question Id : 2012981638 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T=HT T SEIATAT T T FT 27

Options:
| % SToT FEHT

SJWW

, » B A F @y @

Question Number : 54 Question Id : 2012981639 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Fa sk
SET I FH T 27
Options:

| @ 1w FEew R arert
, » B #$ d@Fg 3R gEmw B

FC W I Fodl B @A A g

L

, » B R8N & 9 3 W e F v F1 2

Question Number : 55 Question Id : 2012981640 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

TIIYeT S @F FI FAT TS Tenar 22

Options:

1 ® 2

g_z.:s'-'ﬂﬁT



Question Number : 56 Question Id : 2012981641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
S=<T & 3 ATFg T FIT TS HTAT IMTgT?

Options:

e A FW THAT ST §

L PO IS T Ao T &

. » A SH HH 3T 8

L« R ¥ Wt F a4 ¥

Question Number : 57 Question Id : 2012981642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

=47 T FIT J1ET FIAT AET?

Options:

., % 95 Fef FEN HIeaT AT
-~ ra & F17 & Ace F¢ 3T =udr guEar #i

AL 2 & Ul T T6 W@ H ASE &7

4. &
OUANTITATIVE AFPTITULE

Section Id : 201298167
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1

Sub-Section 1d: 201298167



Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 2012981643 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What approximate value should come in place of the question mark (?) in the following question? (You are NOT
expected to calculate the exact value.)

16,978 + 27.007 + 36.984 — 12.969 —-9.003 =7
Options:
1 ® T2

o B 42
2 o H0

I 51

Question Number : 58 Question Id : 2012981643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
ey 990 H 999 =Ed (7) & = 91 aguuiﬁd T 4T AT AT (HT9H Helg He &h f0TAT
T E 3eE =5 b

16.978 + 27,007 + 36,084 - 12969 - 8.003 =7
Options:

3 v 60

Question Number : 59 Question Id : 2012981644 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

When 30% of one number iz subtracted from another number, the second number reduces to its four-fifth. What is the
ratia of the first to the second munber?

Options:
1 % 4:7

o Rt

L
®
I-J
th



Question Number : 59 Question Id : 2012981644 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
=5 o T 1 30% B 2@ 9T ¥ UEE A E, A7 S8 A9 3R 9I=s A% 4 g A4
&1 AN AaT # gEL AL W FAOE #4747

Options:
1 % 4 :7
> % 3:2
=M 2:5
aobil & 9

Question Number : 60 Question Id : 2012981645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Meenal purchased a car for 2,350,000 and sold it for $3.48.000. Whar is the percentage profit she eamed on the car?

Options:
1 ® 40%g

5 o 39.2%

Question Number : 60 Question Id : 2012981645 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A F 32.50,000 # v FT WA T I 2348000 A #w I w0 o ¥fET swdr oy wfea
FIT BT

Options:

| % 40%
>« 39.2%
3 % 38.4%

L % 38%

Question Number : 61 Question Id : 2012981646 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



Two-thirds of the first number is equal to the cube of the second number. If the second number is equal to 12% of 30,
what s the sum of the fivst and the second number?

Options:
1 & 330

Question Number : 61 Question Id : 2012981646 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
UEe FET # 21 TS IO AR F U4 ¥ WY ¥ O gEU A 50 F 12% F we E & 9E MW
gHT FET IO F4 R

Options:

. v 330
. % 360
5 % 390

4 % 372

Question Number : 62 Question Id : 2012981647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What should come in place of the question mark (?) in the following number series?

2. 12 18 36 00 20 7
Options:
1 o 945

> % 810
s % 1080

4 % 1215

Question Number : 62 Question Id : 2012981647 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
fAr=ofla = s@en & 77 BEa (?) & TUE W R g afge?
12 12 18 36 Q0 270 ?



Options:

| v 945
, = 810
- = 1080

. % 1215

Question Number : 63 Question Id : 2012981648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What approximate value will come in place of question mark (7) in the following questions? (You are NOT expected to
calculate the exact value.)

(14,99 — (7017 + (499 =2

Options:

1 % 250

> % 200
s % 150

4 « 300

Question Number : 63 Question Id : 2012981648 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Rreefafes weat & wem R (7) & T09 9 AT FA F e (3 whE A B e e
#1 3FE T RN

(14.99)° - (7.01)* = (4.99) = 7

Options:

| % 250
. = 200
2 # 150

. v 300

GEMERAL MENTAL ABILITY AND REASONING

Section Id : 201298168
Section Number : 4
Section type: Online



Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 201298168
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 2012981649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Study the fellowing ammangement carefully and answer the question given below:;

BCM@ENETZIY6S0QST*WZIUE%AL
Chree of the following four are alike in a certain way with respect to their position in the above amangement, Which is
the one that is different from the other three?

Options:
1 v £62

5 % Q7TW
s % 3EA

4 % MNT

Question Number : 64 Question Id : 2012981649 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

AT T sOSTdl & CUATEE 95 3N 5HF A9 B T mF &7 39 3
ECM@NET2YEEaQST7T-WZ3UE®RGAA4

fer oiv o7 fSeedt & & OnT I9deT cOe R 7 See TRy & amurr 9v e TR aies & maeT B
T # O = 71 aew O feeeat 7 i B7

Options:
% Q7 W
2% 3EA

4 # MNT



Question Number : 65 Question Id : 2012981650 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Following question is based on the following alphabet-series:

ABCDEFGHIJELMNOPQRSTUVWXYZ

Which letter in the alphabet is as far from G as T is from M?

Options:
1, % M

>« N
3_&30
4 % P
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Options:

1%-5["'.1'1

>« N
z % O

4 % P
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Select the analogous word pair from the options.

Jupiter : Planet
Options:
, % Sparrow : Bird

> % Yamuna : River



5 # Chilka : Lake

4 « Everest : Peak
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In the following pair, find two words related to the words already given— one word for each of two related pairs.
I:Gum: Worm :II

E (1) Bottle (2)Brand (3) Loaf (4) Tree
I (A)Silk (B)Insect (C)Cocoon (D) Thread

Options:
1 ® 1B

o B 2C
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In the following guestion, a gronp of three/four inter-related words are given. Choose a word froo the given altematives
that iz similar to the given words and hence belongs to the same group,

Potato @ Carrar @ Badish
Options:
1 % Tomato

« Spinach
= % Sesame

4 « Groundnut

Question Number : 68 Question Id : 2012981653 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
refaflE woF &, 99 / 9 HET-HetiT ol 1 TR TAE owr Far §) v v e & e v
T Frepedt B T Mg I9 A UF fF HRg ¥ wEfoT §

HIF] @ TS He
Options:
1 B CHICT

> % Hleldh

E.Wﬁﬂ



HITFaIr

4 ¢ =~

Question Number : 69 Question Id : 2012981654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In the following question, a word is represented by only one set of numbers as given in any one of the alternatives. The
sets of numbers given in the altematives are represented by twa classes of letters as in the two given matrices. The
columns and rows of Matrix T are numbered from O to 4 and those of Matrix I from 5 t0 9. A lefter frony these matrices
can be represented first by its row oumber and then the column number ¢.g. 5 can be represented by 14, 21 cte.
Similarly vou have to jdentify the correct set for the word given in the question.

Matrix | Matrix 1

o [T 12 3 14 516 [7 |8 |9

o [AJE |8 |T |H 5 [E [0 |[R [E L

I T3 [A|E |8 é [E|L [P [O|R

2B 5 |T H|A T2 |BR (K |L [P

T HTA[B 5 |T 3P [OR[E

4 |8 |T [H|A [BE ¢ |R |K |I 0
LAKE
Options:

, % 97.00.77.12
. w 66.12,58.40

5« 85.31.77.44

. & 77.43.76,31
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, % 97,00,77,12
, » 66,12,58,40
.  85,31,77,44

. = 77,43,76,31
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Shields belong to .

Options:
1 % Cenozoic era

- % Mesozoic era

5  Precambrian age

4 » Jurassic age
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arel o F@etea F
Options:

2 BATAESF I (Cenozoic era)
i fAEsEs I (Mesozoic era)

. » HFe{asa 37 (Precambrian age)

e S[I &% g7 (Jurassic age)
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Which of the following organisations make major credit policies for the Regional Rural Banks (RRBs)?

Options:
1 « NABARD

-~ » Asian Development Bank

= % World Bank

4 % State Bank of India
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. » & (NABARD)
, « URaTs f@rE 9% (Asian Development Bank)
. « %9 9% (World Bank)

, « SET T dF (State Bank of India)
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Which of the following Article of the Indian constitetion provides that ‘it shall be the duty of the union to protect every
state againsi external ageression and uiernal disturbance'?

Options:
1 % Article 215

> % Article 275
z % Article 325

4 « Article 355

Question Number : 72 Question Id : 2012981657 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
AIAT HRYE F AT A @ 9 F H=te § #2002 OOl deAn HJT A e
F foemw 37 =g $1 77 F B O9 F7 F5=7 ZOT

Options:

i 34@?&3215
Giig 34?3?&‘::2?5
s 3@?&3325

i IHeT=0e 355

Question Number : 73 Question Id : 2012981658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Tartaric acid is obtained from:
Options:



, % Apples

> % Citrus fruit
5 Grapes

4 % Tomato
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Options:

, » HF (Apples)
, » @g W (Citrus fruit)

s @ TR (Grapes)

4 » AT (Tomato)
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Who is the author of the novel ‘Devdas’?
Options:

, w» Rabindranath Tagore

> » Bankim Chandra Chattopadhyay
5  Sarat Chandra Chattopadhyay

4 % Munshi Premchand
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Consider the following events:

Reign of Krishnadeva Raya of Vijaya nagar
Construction of Qutub Minar

Arrival of Portuguese in India

Death of Firoz Tughlaq

oW -

What is the correct chronological sequence of these events?

Options:
| o 2-4-3-1

5 % 2-4-1-3
3 % 4-2-1-3

4 % 4-2-3-1
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Options:

| @ 2-4-3-1

» % 2-4-1-3

3 % 4-2-1-3
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Question Number : 77 Question Id : 2012981662 Question Type: TYPING TEST Display Question Number : Yes

Sardar Vallabhbhai Patel is known as the architect of independent India. Had it not been for his efforts, the
various princely states of India would not have come together. Sardar Patel also worked for the welfare of the
farmers. In order to pay homage to Patel and honour his contribution to the country, Marendra Modi
announced the construction of a huge statue of this great Indian leader. The announcement was made nine
years ago when Narendra Modi was the Chief Minister of Gujarat. Statue of Unity dedicated to Sardar Patel is
knowr for its enormeous structure and elaborate design. & 1ot of sweat and hard work went into the making of
this structure. & team of artists, historians and architects was selected to further this task. They studied
various statues of Sardar Patel set up in different parts of the country. Finally, the design suggested by
sculptor, Ram V. Sutar was approved and the work for the construction of this unique statue began. The
Statue of Unity i5 said to be a replica of the statue of Sardar Vallabhbhai Patel installed at Ahmadabad
International Airport. It is just that this statue is much larger than that. The total height of the statue is two
hundred forty meters and is known as the tallest statue around the globe. In this statue, he is seen wearing a
dhoti, his head 15 held high and there 15 a shawl on his shoulders. His hands are on his sides and he 15 wearing
a pair of sandals. The height weight and other measures of the statue have been decided in a way that it
stands intact amid adwverse climatic conditions. This one of a kind statue can withstand wind up to two
hundred twernty kilometer per hour. It can also withstand earthguales up to 5.5 on the Richter scale. The
Statue of Unity Mowvermnent. A drive to support the construction of the Statue of Unity was initiated by the state
government of Gujarat. This was named the Statue of Unity Moverment. By way of this movernent, the
government of Gujarat received irmmense help from the masses. It urged the farmers and artisans to donate
their old and used equipment and people came forward to donate these in vast numbers. Scrap iron
armounting to one hundred thirty five metric tonnes was collected with the help of this movement. Statue of
Unity is a symbol of unity and strength. It reflects the true personality of Sardar Patel who was strong and
robust. The initiative taken by PM Modi has been supported and appreciated by people in power as well as the
general public. PM Modi sees this statue as an inspiration for the people of our country.
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